¢/ Quieren ustedes tirar piedras?

Veulent-ils jeter des pierres?




Today's learning objective:

By the end of class, | will be able to combine vectors,
measure magnitude, identify the unit vector, and write
vectors in multiple forms. (9]
-3
Today's language objective: -

C =a+t\y

Unit Vector - 1 ¢, -«
| ] k vs the column~___
Parallel Vectors—

Perpendicular Vector




Aline L passes through A(1. —1,2) and 1s parallel to the line r =

ap——

L:: t\tt|?3

(a) Write down a vector equation for £ in the form r = a + tb. ‘j

The line L passes through point@vhen f=21.

(b) Find




6.) Let AB =l —%2

. V.
(a) Find BC. -
Cl— B f‘s > -2

oo 2

and AC

(b) Find: ect01 111 the direction of AB 6 /o
lVI:’.‘ v“l.,,, VI +v$ = .rl/-.!.
(c)  Show that AR is perpendicular to E g /:‘_

6--2 + -2.-3 % 3:2=¢Q
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14) (a) Letu= . Given that u 1s perpendicular to w, find the value of p.

P

(b) Letv=|gq|.Given that |[v| = /42 , find the possible values of g.
5
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17.) Letv=3i+4j+kand w:i+2j—3k.Thevectorv+pwisperpendiculartoc_v'.‘
Find the value of p.
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8
The line L, is parallel to the z-axis. The point P has position vector | 1 | and lies on L;.
0

(a) Wnte down the equation of L; inthe formr=a + th. & g _'_, 't o el L|
! @)
o, o \t
= < 6
2

The line L, has equation r = | 4 |+5s| —1|. The point A has position vector

1) s o 9

A e
(b)  Show that A lies on L,. - 2 61 - [:'l + ) l
Pl = q =~ 5 )




22.) Consider the points A(S, 8), B(3, 5) and C(8, 6).

(a) Find

— \-x
(1) AB: L 3]
(i) AC [:,:l

(b) (i) Find ABeAC .

A -\—6:‘-0

(1)  Find the sine of the angle between X'B and R ,
0
Gin 10 *



26.) Consider the vectors u =2i + 3j— kand v =4i + j — pk.

(a) Guven that u 1s perpendicular to v find the value of p.

(b)  Given that g[u|=14, find the value of g.



=1 Points P and Q have position vectors —5i +11j —8k and —4i + 9 j — 5k respectively, and both
lie on a line L.

(a) (i) Find PQ.



30.) The points P(—2, 4). Q (3. 1) and R (1, 6) are shown in the diagram below.

™

(a) Find the vector P—Q' :

(b) Find a vector equation for the line through R parallel to the line (PQ).
(Total 6 marks)



